RDMOTO CZECH REPUBLIC
info@rdmoto.cz
www.rdmoto.cz

A55DM

Aprilia SL750 Shiver
Aprilia SMV750 Dorsoduro
Aprilia Dorsoduro 1200

Kit for the left side Kit for the right side

ID. Description Cat.no. | pcs ID. Description Cat.no. | pcs
1 |Dural. cylinder 30mm 171 1 1 |Dural. cylinder 30mm 171 1
2 | Dural. cylinder 61mm 31 1 2 | Dural. cylinder 61mm 31 1
3 | Bolt M6x20 1024 2 3 | Bolt M6x20 1024 2
4 | Washer M6 1023 2 4 |Washer M6 1023 2
5 |nutM12 811 1 5 |nutM12 811 1
6 |Slider adapter 537B 1 6 | Slider adapter 537B 1

| 7 | stainless steel rod M12x485X30X30 | 1 |

Instructions:

. Remove original bolt M12 from frame of motorcycle.

. Insert steel rod (ID7) into frame of motorcycle.

. Put dural cylinders (ID1+ID2) on both ends of steel rod.

. Now mount slider adapter (ID6) on dural. cylinder and tighten them using M12 nut (ID5).
. Fit slider on the slider adapter (ID6) using two M6 bolts (ID3) and washers (ID4).

1
2
3
4
5

We recommend to use the glue on all threads (medium strong — blue colour).




